0‘001 €81 69 0'6l 81 I‘nl 43 <0 8% 9 111 661 %
TPbLOLL|9'P8T°07 | 9°€89°L | 8060°LT| S°L6'L | ¥'BETTL| $T6S°E | €€IS | LDLy9 | €410° | 6'TPET| 8°65S°LT [e301 swwing
06 |¢'88S’s |8TeL |00 71861 | 0'9¢  |0'0T9 | 61 - 0'9zz 0 0'820°1 | ¥'756 “yaqun,1suos
€0 |T's6e - - - - - %] - - 9'b 1'sb¢ - ZinyasinieN
Yo | 0°0s¢ - - - - - 1121 - 600 - - WOIISIALIIOA
3unqnsay
0 0 0 0 0 - 0 - - - - - - w g
Tt |9usrT |0z - 9%zl | - 0'9 8¢°0 - 0 - 91 0 [
- - - - - - - - - - - - - v_.u:
§0 8709 0 St €991 - 9°0¢¥ - - Sl - - - 3Rl
sy lo9zey [09¢T1 - 0069€ | - - - - - - - - Y
91 |0°€8L1 - - - - - 998 - - 0001 |¢o 1961 3
€11 JorosTt [orsLT | - 0've8 - - - - 0'0L 000¥Z | 0 0'9%¥'9 o}
06T |T'880°T¢ {£°898'S | LIEHT|6%6S0'T | 61 s'ory | 8'sovl| - YTT81 | 056 | S'6E6'8 | 9'86H'Y 2
ST [1°646°1T [£'€98°T | 8'6€€T10091'S | - S'P65E | 9661 - oogee | - 8'68 | 9'1£9°C P
€0 |T'sof - - - - 1691 1441 - 0°0¢ - - - 2
LT (6981 - 01681 | - - - - v'82T | - - - - q
1T [ L'6I¥'€T | 09S¢ | €0ETT [ 1°856'9 | O'PIS'T |0T0EE | S69L°1| - 8'v6€ | 0%68¥'Z | OIZI'T | O'SEPT L
7°SqV ¥ uy
ST lvessT [€f90sT | €48 |1 L'68¢ {291 0'809 | 8¢l | - s6t | S0 - [
3 N 3 g & 5 i E 2 3 g 2
m,n T = = = = 5 3[[91553213535)
= Pl qm -DAD

$3232538sayayIaapunic) s3p uspueisaqiersdunSnuysusny yoeu jpssnjyssadne
‘€661 ATye{ WI UIdISUNYIIIT SWNIUIISIN,] $IP UIpUIBWAN uap ul ([33puniad] Ifs 0001 Ul 7 33334\ 3323asa8win) JyayI2apuUNID) 13

296




